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General Instructions :

58/1/1

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

All questions in both the sections are compulsory.
Marks for questions are indicated against each question.

Questions No.1-3 and 15-19 are very short-answer questions carrying 1 mark each.

They are required to be answered in one sentence each.

Questions No. 4-8 and 20-22 are short-answer questions carrying 3 marks each.

Answers to them should normally not exceed 60 words each.

Questions No. 9-10 and 23-25 are also short-answer questions carrying 4 marks

each. Answers to them should normally not exceed 70 words each.

Questions No. 11-14 and 26-29 are long-answer questions carrying 6 marks each.

Answers to them should normally not exceed 100 words each.

Answers should be brief and to the point and the above word limits should be

adhered to as far as possible.
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The demand curve of a goods shifts from DD' to dd'.

; d
y D
Price
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This shift can be caused by : (Choose the correct alternative)
(a) fall in the price of the goods.

(b) rise in the price of the goods.

(c) rise in the price of substitute goods.

(d) rise in the price of complementary goods.

2. U I%] 5 THTEAT SO R Fel WU () T 100 T | 6 SHIEAT So I HH ot

3 8T | 6 ThTEAT b T UX S ST & 2 (Wl fahed giw) 1
(a) T 287 Thre
(b) 20 Wi ThE
(c) T 187fd The
(d) %12 v e

When 5 units of a goods are sold, total revenue is ¥ 100. When 6 units are sold,
marginal revenue is ¥ 8. At what price are 6 units sold ? (Choose the correct

alternative)

(a) X 28 per unit
(b) 20 per unit
(c) R 18 per unit
(d) < 12 per unit

3. T U MM SUT GEIeT 519 gRT YR “WIRI" & STHNT i Wicdlied H Tohell & | 1

Suggest any one economic measure by which the government can promote

consumption of ‘Khadi’.
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Do rich countries also face central problems ? Give reasons for your answer.

ST 3R HYHAR T 37T g & SHD! SCAG AT T (T5h) U TS i SRS HITSTT |

Explain the effects of floods in Jammu and Kashmir on its production possibilities

frontier.

IRA TWHR FB FHAl o AT GHIT For 1 Fiied sheet & 2 ey |

Why does the government of India fix ‘support price’ for some crops ? Explain.

T WA & ST=iid Sl U BH “hIHd-ThReE &l &, SHHd-FaRS Tl ? ey |
Frear

FACATERHT ht TR TqIHTar foreise =t samem Sifsy |

Why is a firm under perfect competition a ‘price-taker’ and not a ‘price-maker’ ?
Explain.

OR

Explain ‘non-price competition’ feature of oligopoly.

et o T&t € a1 7o | 310 ST % folT ®RuT SIS |
(a) T 3T o R B W ST SeTS F |
(b) THHT AN % g R &l ST AR S |

State whether the following statements are true or false. Give reasons for your

answer.
(a)  When total product is constant average product will fall.

(b) Average cost will rise only when marginal cost rises.
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10.

11.

12.
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Show that price and demand of a commodity are inversely related ? Use utility

analysis.

OR

Explain any two factors that affect price elasticity of demand.

T HI TSR [T T ARATST AT | TR A1 e et HReb TR |

Define ‘market demand’ for a goods. State the factors that affect it.

SRR o HeT i 91t THeMEY |

reraT
frefofad & s T g & 2
(a) T S () 31X fa |,
(b) o Tt X Hre= Gt

Explain the conditions of producer’s equilibrium.

OR
What is the relationship between :
(a) Marginal revenue and Average revenue

(b) Total revenue and Marginal revenue

IREdT ST & 28 Wt T SeTs 3R Hel SIS SI5hi i FeTddT ¥ SARSAT iy |

Explain the law of variable proportions with the help of marginal product and total

product curves.
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The following question is for the Blind Candidates only in lieu of Q. No. 12.

Explain the law of variable proportions with the help of a schedule.

13. ST et i g ST | SHEHE a5 [aveluuT o S SHeRl IIdt bt e
HIT |

Define consumer’s equilibrium. Explain its conditions under indifference curve

analysis.

14, A 9% % ISR GqoH & Ffd § & | S9! ST 1 DA 9g STt & | Tk {@irest
TRl & Tqet ST, HT-ATET 31X Uf-07T 1 96 W76 3t el Sl S i |

The market for commodity A is in equilibrium. The price of its inputs rises. Explain
its chain of effects on equilibrium price, quantity demanded and supplied with the

help of a diagram.

Frfefad oo Shaet giedi= adiemterat & ferg oo T 14 & & W e

T o] Tt HTT-TMRT 1 31 JaTET | e SIAd, RT-ATET SR Yid-AmET I 39 T
i G Sl AR HINT |

The following question is for the Blind Candidates only in lieu of Q. No. 14.

Give the meaning of ‘excess demand’ of a commodity. Explain its chain of effects on

equilibrium price, quantity demanded and quantity supplied.

58/1/1 6
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15. frfafad & 9 S o1 voet S 1 Sigl € 2 (Tl faehed g 1
(a) STET Yoh S FHrd
(b) e HY 3N 3T HT
(c) STET Yoh 3R e HT
(d) T HT AR 3T HT

Which one of the following is a combination of direct taxes ? (Choose the correct

alternative)

(a) Excise duty and Wealth tax
(b) Service tax and Income tax
(c) Excise duty and Service tax

(d) Wealth tax and Income tax

16. TST 9id & Th TaRT | 1

State the components of money supply.

17. TfafEad =t § 9 iF 91 98l § 2 1
(a) o1 T SR FoT WA BT S TSTHIN T Bl § |
(b) T WITAAT ST SATST IAH T S WA 12T 2l & |
(c) VST e urfiveh =1 S AT 9T 1 T Bl ¢ |

Which of the following statements is true ?
(a) Fiscal deficit is the difference between total expenditure and total receipts.
(b) Primary deficit is the difference between total receipt and interest payments.

(c) Fiscal deficit is the sum of primary deficit and interest payment.
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Which of the following is not a flow ? (Choose the correct alternative)
(a) Capital

(b) Income

(c) Investment

(d) Depreciation

19. ffefad § | ®F o1 g1 61 w1 TE € 2 (T fawed giHw)

(a) Taf9g 1 oregm
(b) T FeERar
(c) Hed T

(d) oG H e

Which of the following is not a function of money ? (Choose the correct alternative)
(a) medium of exchange

(b) price stability

(c) store of value

(d) unit of account

20. Tye=teIiEd § o qery e & 2
(a) 3TEd ST Mg 31X 3iied s= wg
(b) T STHT U SR AW ToTR

rerar
TATCTRE T 3% Famsy
(a) 3TF RIS, R
(b) R ST
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What is the relationship between :

(1)  Average propensity to consume and average propensity to save.

(i) Marginal propensity to consume and investment multiplier.
OR

Give the meaning of :

(1)  involuntary unemployment, and

(i1) inflationary gap

21. Tocsh ga1 ot 5T & Tl | Siat 1 9uiT iy | 3

Describe any three sources of demand for foreign exchange.

22. FEd=- 100+ 0.2 Y (319) | ¥ Ush N&eqee] § =i Hold € | 769 =99 5,000 & | 37

% T TR 1 IR I | 3
S =-100 + 0.2 Y is the saving function in an economy. Investment expenditure is
5,000. Calculate the equilibrium level of income.
23. FAfafiEd gl ¥ R oNTd WY Haet Godt Ggig 1 uieherT Shify 4
(EER)
(i)  fonl 300
(i)  URM9H ©iH 40
(i) @ 30
(iv)  HeTedr ST 120
(v) 50
(vi) T uRedd 20
(vil) et e 15
(viii) ToseT =1 R 1 10
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24.

25.

26.

58/1/1

From the following data, calculate net value added at factor cost.

(% in crores)

(i) Sales 300
(11) Opening stock 40
(1)  Depreciation 30
(iv)  Intermediate consumption 120
v) Exports 50
(vi)  Change in stock 20
(vii)  Net indirect taxes 15
(viii)  Factor income to abroad 10

e Il 3T Tf=TH &gl | 9T HINT | Fedh T Th SRRV JT |
3reran

31T & Tshig Y8 hi ARSAT BT |

Distinguish between intermediate goods and final goods. Give an example of each.
OR

Explain the circular flow of income.

A 3R GHIENH &g TH-3A1 | 9% HIT | 39 9% 1 Tew THeey |

Distinguish between autonomous and accommodating transactions of balance of
payments account. Explain the significance of this distinction.

3T ST T &l SIS T hH T I HETIHAT hl AT BT | [l af a1
SURT &I AT SIS ek §RT I8 {hdT ST Fehell & |

Explain the need for reduction in inequalities of income and wealth. Explain any two
budgetary measures by which it can be done.

10



27, i S el @ e el 1 o iR | 6
AT
e 27 3 AR e 3 T o S e R ¥ o W |
Describe any two main functions of a central bank.

OR

How do changes in Bank Rate affect the money supply in an economy ? Explain.

28. FHY HIT 3R FHY A % SRR A & i ffd 7 S Gl el €, Sl e i | 6
Explain the changes that take place when aggregate demand and aggregate supply are
not equal.
29. (a) U 3 3R (b) Tehet L YA 37T I TR HifoTT : 4,2
(X et H)
()  Fsi otfm 3w = 500
(i)  Foe SR stae qeit T 100
(i)  Tocwr @ Foe ®RE 3 30
(iv) %% ¥ uRadd 20
(v)  THae 40
(vi) ot et Y 50
(vii) TP o 300
(vil)) TIBRI ST=TH ST = 200
(ix) 3T ST <hr ST 60

(x)  fomet o fHaet =] g (-) 10
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Calculate (a) national income and (b) gross national disposable income.

(% in crores)

(1) Private final consumption expenditure 500
(11) Net domestic fixed capital formation 100
(ii1) Net factor income from abroad 30
@1v) Change in stock 20
(v) Net exports 40
(vi) Net indirect taxes 50
(vii) Mixed income 300
(vii))  Government final consumption expenditure 200
(1x) Consumption of fixed capital 60
(%) Net current transfers to abroad (- 10

58/1/1 12



SENIOR SCHOOL CERTIFICATE EXAMINATION

JULY-2015
MARKING SCHEME — ECONOMICS (DELHI)

Expected Answers / Value Points
(SET-1)

GENERAL INSTRUCTIONS :

1. Please examine each part of a question carefully and then allocate the marks
allotted for the part as given in the marking scheme below. TOTAL MARKS
FOR ANY ANSWER MAY BE PUT IN A CIRCLE ON THE LEFT SIDE WHERE THE
ANSWER ENDS.

2.  Expected suggested answers have been given in the Marking Scheme. To evaluate
the answers the value points indicated in the marking scheme be followed.

3.  For questions asking the candidate to explain or define, the detailed explanation
and definition have been indicated alongwith the value points.

4. For mere arithmetical errors, there should be minimal deduction. Only % mark be
deducted for such an error.

5. Wherever only two /three or a “given” number of examples / factors / points
are expected only the first two /three or expected number should be
read. The rest are irrelevant and must not be examined.

6. There should be no effort at “moderation” of the marks by the evaluating
teachers. The actual total marks obtained by the candidate may be of no
concern to the evaluators.

7. Higher order thinking ability questions are assessing student’s understanding /
analytical ability.

General Note : In_case of numerical question no mark is to be given if only
the final answer is given.
. Distribution
Al
Expected Answer / Value Points of Marks
1 | (c) Rise in the prices of substitute goods. 1
2 | (c) Rs. 18 Per unit 1
3 | Reduce price by giving subsidy. (or any other relevant measure) 1
4 | Yes, even in rich countries resources are scarce, having alternative uses and 3
wants are unlimited.
5 | Floods have damaged and reduced resources. Since potential production 3
declines the production possibility frontier shifts to the left.
6 | For some crops fall in price below a certain level is not good for the farmers. 3
Hence the government fixes minimum price for these crops.

Pg. 1



7 | There are large number of sellers in perfectly competitive market, so that an
individual firm has a negligible share in total supply. As such no individual seller 3
can influence the market price on its own. The seller has no option but to accept
the market determined price. It makes the seller a ‘Price taker’.

OR

In oligopoly, there are only few firms. If they compete on the basis of price,

there is likely to be price war and the firm may loose. So, the firm adopts 3

measures other than price for competing like customer care, after sale service,

free gifts, etc. This is non-price competition.

g |(a) True, because Average Product = Wzinm and since TP is 1%

constant and variable input increases, AP will fall.

(b) False, rise in AC takes place when MC is greater than AC and not 1%
necessarily when MC rises.

9 A consumer buys a good upto the point where

Price = MU a
Now suppose price falls, it makes
Price < MU
Since price is lower than MU, this induces the consumer to buy more units of
the good. It shows inverse relation between price and demand.
OR
(i)  Nature of the good : If good is a necessity, its demand is not likely to be
affected by change in its price. So, demand for such goods is price — 2
inelastic. On the other hand, demand for luxuries is elastic, because with
rise in price consumer may reduce demand for luxuries.
(ii) Availability of the close substitutes of the good. Larger the number of 2
substitutes available more is the choice before the consumer and so more
elastic is the demand.
(Any other relevant factor)
10 | Market demand is sum of the demand of all buyers of a commodity at a given 1
price during a period of time.
Factor affecting market demand:
(i) Number of buyers.
(ii) Price of the commodity
(iii)  Income of its buyers 1x3
(iv) Prices of the related goods
(v) Tastes and preferences of the consumers.
(vi) Distribution of income. (Statement only)
(Any Three)

Pg. 2



The two conditions of producer’s equilibrium are

11
(i) MC= MR
(ii) MC becomes greater than MR if more is produced after the point of
equilibrium.
Explanation
(i) If MC is less than MR. it is profitable to produce more units till MC 5
becomes equal to MR.
(ii) When MC becomes greater than MR after the MR=MC condition, 5
production of each new unit is sold at a loss, which leads to decline in
profits.
OR
(a) (i) When MR > AR, AR rises.
(i)) When MR < AR, AR falls. 1x3
(iii) When MR = AR, AR is constant.
(b) (i) When MR is positive TR rises.
(ii) When MR is zero TR is maximum. 1x3
(iii) When MR negative TR falls.
12
I
|
|’ 3
| |
PhaseT | Phase I | Phasedl »
o) b\ \t]amb&
mp P
Explanation : As variable input is increased :
Phase | : TP rises at increasing rate and MP rises i.e. upto A on TP curve.
Phase Il : TP rises at decreasing rate and MP falls but remains positive between 3
A and B.
Phase Il : TP falls and MP becomes negative after B.
(Explanation)
For blind Candidate only
Schedule 3
3

Explanation (on the above lines)

Pg. 3



13

Given income of the consumer and the prices of goods he buys the consumer is
said to be in equilibrium when he spends income in such a way that he gets
maximum satisfaction.
The two conditions of equilibrium, assuming only two goods consumed, are
. Px
(I) MRS = E
(ii) MRS falls as more is consumed of X
Explanation :

(1) Suppose MRS > I’;—;. It means that consumer is willing to pay more for good X,
then the prevailing market price. Consumer buys more of X and less of Y till
Px .
MRS = — again.
Py
(2) Unless MRS has a tendency to fall as more is purchased the consumer will
never reach equilibrium again.
(Note : Explanation MRS < I’:—:} is also correct)

14
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Rise in price of inputs results in decrease in supply. Supply curve shifts from SS’
to ss’ . At given price OP there is excess demand equal to AB. This results in
competition among buyers. Price start rising , demand starts falling and supply
starts rising as shown by arrows. This continues till price rises to OP;. Market is in
equilibrium at a higher price and quantity falls to 0Q;.

For Blind Candidates :

Meaning of excess demand

Explanation on same lines as above

SECTION - B
15 | (d)
16 | (i) Money with the public (ii) Demand Deposits
17 | (c)
18 | (a)
19 | (b)

Pg. 4



20 | (a) The sum of APC and APS is equal to 1. 1%
(b) The higher the MPC the greater is the value of multiplier. 1%
OR
(a) Involuntary unemployment exists when willing and able bodied people do 1%
y ploy g peop
not get employment at prevailing wage rate.
(b) The excess of aggregate demand over aggregate supply at full 1%
employment is called inflationary gap.
21 | (i) Importers need foreign exchange for making payments.
(ii) Making investments abroad. 1x3
(iii) Tourism abroad. (or any other source of demand)
22 | §= —100+ 0.2y
At equilibrium S = | 1
I = 5000
=~ 5000 = —100 + 0.2y 1
0.2y = 5100 Y%
y = 25500 Y%
23 NVAg. = i+ vi — iv — iii — vii 1%
=300+ 20 — 120 — 30 — 15 2
= Rs.155crore %
24 | Goods purchased by a production unit from other production units for resale or
for using them completely during the same year are intermediate goods, 3
whereas goods purchased for consumption / investment are final goods.
Intermediate good : raw material... etc.
%
Final good : Machine purchased for installation in factory.... etc. ’
%
OR :
e/ocw'%m'““\‘
Preduction Units
ﬁ"h'«ﬁ [)(/)chcbltu‘((‘ 1
Production units engage factor owners from households and in return make
3

factor payments to them. The households spend income on goods and services
produced by production units. This completes the circular flow of income.

Note : For Blind candidate flow chart is not necessary. Full marks will be
awarded if only explanation is given.
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25 | Autonomous transactions are made independently of other transactions in
balance of payments. Accommodating transactions are made to cover up deficit )
or surplus in autonomous transactions.
The significance of distinction is that deficit / surplus in balance of payments
equals deficit/ surplus in autonomous transactions only. 2
26 | Inequalities of income and wealth reflect a section of society being deprived of
even basic necessities. Thus arises the need for reducing them in the society. )
e Progressive taxation. 1
e Increasing government’s expenditure. 1
(Explanation) (1x2)
27 (i) Banker to the Government
(ii)  Bankers’ bank
(iii)  Controller of credit
(iv) Bank of issue (any two) 1x2
(Explanation) 2x2
OR
Bank rate is the rate of interest at which commercial banks can borrow from the
central bank. Lowering bank rate encourages commercial banks to reduce their 6
lending rate to public. Since borrowing becomes cheaper, people borrow more.
This raises money supply. Raising bank rate has the opposite effect.
28 | When AD < AS inventories accumulate. As a result producers reduce production, 3
AS falls. This process continue till AD = AS.
If AD > AS, inventories fall. To make up for this producer’s increase production. 3
AS increases. This process continues till AD= AS.

29 | N.I. = (i) + (wiii) + {(ii) + (iv)} + (v) + (iii)) — (vi) 1%
= 500 + 200 + (100 + 20) + 40 + 30 — 50 2
= Rs.840 Crore. %

GNDI = N.I.+ (ix) — (x) + (vi) 1
=840 + 60 — (—10) + 50 I
= Rs.960 Crore. %

Pg. 6
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